Balancing Worksheet
Balance the following equations:  

____NaCl (aq) +  ____Ba(NO3)2 (aq)   ____NaNO3 (aq) +  ____ BaCl2 (aq)

 

____Na3PO4 (aq) +  ____AgNO3 (aq)   ____NaNO3 (aq) +  ____Ag3PO4(s)

 

_____K2SO4 (aq) + _____BaCl2 (aq)  _____BaSO4 (s) +  _____KCl (aq)
 
_____HCl + _____Ca(OH)2    _____H2O (l) + _____CaCl2
 
_____Na (s) + _____S (s)  _____Na2S (s)
 
_____C2H6 (g) +  _____O2 (g)   _____CO2 (g) +  _____H2O (l)
 
_____Li (s) +  _____H2O (l)   _____LiOH (s) + _____H2 (g)

 

_____Mg (s) + _____CuCl2 (aq)  _____MgCl2 (aq) + _____Cu (s)
 
_____HgO (s)   _____Hg (l) + _____O2 (g)
 
_____FeO (s) + _____O2 (g)   _____Fe2O3 (s)
 
_____Ca(HSO3)2 (s)  _____CaO (s) + _____H2O (l) +  _____SO2 (g)
  
_____Fe (s) +  _____Br2 (l)   _____FeBr3 (s)
_____CH3CH2OH (l) + _____O2 (g)   _____CO2 (g) +   _____H2O (l)
            _____ N2 (g) + _____ O2 (g)  _____ N2O5 (g)

            

            _____ Al2(CO3)3 (s) _____ Al2O3 (s) + _____ CO2 (g)

 
            ____ Mg(OH)2 (aq) + ____ H3PO4 (aq) ____ H2O (l) + ____ Mg3(PO4 )2 (aq)

 
            _____ Al (s) + _____ S8 (s) _____ Al2S3 (s)

 
